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g IH H 4 |E o prjEfEl 4H8H
|- fise all imLf [ 100 0
2 B PR s n$
SIPRIY AR OZE DA P me/L | 0.003 —
41k £ k O 2 © b & | me/L | 0.0005 —
51 LV v kO F o k& W me/L | 0.01 —
6 & O & o A & W meg/L | 0.01 —
Tl & & O 2 © b & W m/L | 0.01 —
gpIs i 7 v A fE & W] me/L | 0.02 —
9| mH B B =  FE| meg/L | 0.04 —
107 MAe A4 K O Hifb> 7 me/L | 0.01 —
11 |aY B2 R 2 37 K& OVl 6 Bk B 2 | me/L 10 —
1217 v & k & % o b & | meg/L | 0.8 —
13l v & Kk O % O b & ¥ mg/L | 1.0 —
14 |0y H e 1% #| me/L | 0.002 —
e ¥ A % ] mg/L | 0.05 —
USSR o R
7l 7 o owm o owm x| mg/L | 0.02 —
87 7 7 muw x F L v mg/L | 0.01 —
9 V7 v = F L v mgL |0.01 —
20 | v £ > meg/L | 0.01 —
21 ¥ F M| me/L | 0.6 —
227 = = i3 izl me/L | 0.02 —
237 = o N IV L[ mg/L | 0. 06 —
241 7 =: = e P2l me/L | 0.03 —
2% 7 v ® 7 v oum A& U mg/L | 0.1 —
26 |2 =S fg| me/L | 0.01 —
271 U o~ 1 %A & v mg/L | 0.1 —
281 U 7 m v FE BB mg/L | 0.03 —
29|17 v ® v 7 v nm X% U mgL |0.03 —
307 o £ 7N Jb A mg/L | 0.09 —
3 v & 7 v 7T b K| mg/L | 0.08 —
20 7 K& Y = o fb & | meg/L | 1.0 —
BT NAVI=Tv Lk OPZEDEW ng/L | 0.2 —
M &k O 2 o b & M meg/L | 0.3 —
B L& O = o b A& W me/L 1.0 —
6| NV T A KO E DA E W me/L | 200 —
T\ v v k% O Ak & ¥ me/L | 0.05 —
I b w4 A | mg/L | 200 10
Iy T A, w7 F U A% (T E)| mg/L 300 —
40 |7 % 7% ® ¥ me/L | 500 —
4112 4 A » /A m & M A me/L | 0.2 —
42 |~ - n A 3 | mg/L | 0.00001 —
4312 — AF L A4 VAR )L A — L] mg/L | 0.00001 —
441 4 A& o B om & M Al me/L | 0.02 —
4517 st / — v FH| mg/L | 0.005 —
461 % ® ( TOC © & )| mg/L 3 0.4
47 [p H i Dol 74
48 S Bl B
495 e puls ] BEIRL
50 |t | 5 LA
51 [ | 2 | 0.1k
b5 ¥ i) F| me/L |01k 0.5




AT B T KEFIRI AT X 2 K5 - OKERARR)
@& 577K UK BLKRAE — BRI INKT)

ﬁ H H 4 |® |kl 4H8H
1| fix il mLf | 100 0
2 i RISk [mtisny
SIHWRFIU L KO Z DG | me/L | 0003 —
41k 8 & O % © b & | me/L | 0.0005 —
bl v k& o kA W meL | 0.01 —
6% K O £ o b & M meg/L | 0.01 —
Tl & k O 2 o b & ¥ me/L | 0.01 —
8N i 7 v A f & M| me/L | 0.02 —
9 |H M M B = FE| mg/L | 0.04 —
107 A4 kAL T mg/L | 0.01 —
11 |fH B2 Re %2 38 K& OVl AY MR B =€ | me/L 10 —
1217 v % & 0" 2 © b & ¥| me/L 0.8 —
13l v %F k& O 2 o b & # meg/L | 1.0 —
14 {19 i) 1t 1% F#| me/L | 0.002 —
1511,4- % 7 e va > mg/L | 0.0b —
[ T 5T e [ow |
71y 7 = v A & v mg/L | 0.02 —
87 7 7 m v = F L v mgL |0.01 —
9 ¥V 7 v v = F L ¥ mgL |0.01 —
20 | Ve N > mg/L | 0.01 —
21 |3 ES el mg/L | 0.6 —
22|17 = = P f2| mg/L | 0.02 —
237 o I R V% Al mg/L | 0.06 —
241~ 7 = =2 HE B2 me/L | 0.03 —
25 7 v 2 7 mom XA & U mgL | 0.1 —
26 | = # izl mg/L. | 0.01 —
27T~ U o |m A X | mg/L 0.1 —
281 V7 ow v FE Rl meg/L | 0.03 —
29|17 v ® v 7 vnmw A % ¥ mgL |0.03 —
307 = £ AR JV L mg/L | 0.09 —
3| x v &~ 7 v F B K|l mg/L |0.08 —
3208 & & O %= o bt A M| mgL | 1.0 —
BTV I=T LK OZE DAL E W meg/L | 0.2 —
Mk X O = o b A& | megL | 0.3 —
Bl Kk ™ = o {b A& W mgL | 1.0 —
6T VT A K OEZE DG P mg/L | 200 —
3T~ v v k% @ ft & | meg/L | 0.05 —
38 |i& e 27| A 7 | mg/L 200 10
9 vn, v 72y A% (8 E)| mg/L 300 —
40 |7 % b33 ¥ ¥| me/L | 500 —
411k (4 & » F om & M Al me/L | 0.2 —
42 IV - 7+ 2 2 | mg/L | o.00001 —
4312 = AF v A4V R v 2 A — Jb| mg/L | 0.00001 —
44138 4 A » Fom & M Al me/L | 0.02 —
45 |7 - J — Jb ¥H| me/L | 0.005 —
46|15 H # ( TOC @ & )| me/L 3 0.4
47 [p H fi e 74
48 IS Rl BEL
49 (& K Aol | EEZRL
50 | | 5 LA
51 | L 2 0. 1Al
33 5” i) #E| mg/L |01k 0.4
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ﬁ H H 4 |® |kl 4H8H
1| fix il mLf | 100 0
2 i RISk [mtisny
SIHWRFIU L KO Z DG | me/L | 0003 —
41k 8 & O % © b & | me/L | 0.0005 —
bl v k& o kA W meL | 0.01 —
6% K O £ o b & M meg/L | 0.01 —
Tl & k O 2 o b & ¥ me/L | 0.01 —
8N i 7 v A f & M| me/L | 0.02 —
9 |H M M B = FE| mg/L | 0.04 —
107 A4 kAL T mg/L | 0.01 —
11 |fH B2 Re %2 38 K& OVl AY MR B =€ | me/L 10 —
1217 v % & 0" 2 © b & ¥| me/L 0.8 —
13l v %F k& O 2 o b & # meg/L | 1.0 —
14 {19 i) 1t 1% F#| me/L | 0.002 —
1511,4- % 7 e va > mg/L | 0.0b —
[ T 5T e [ow |
71y 7 = v A & v mg/L | 0.02 —
87 7 7 m v = F L v mgL |0.01 —
9 ¥V 7 v v = F L ¥ mgL |0.01 —
20 | Ve N > mg/L | 0.01 —
21 |3 ES el mg/L | 0.6 —
22|17 = = P f2| mg/L | 0.02 —
237 o I R V% Al mg/L | 0.06 —
241~ 7 = =2 HE B2 me/L | 0.03 —
25 7 v 2 7 mom XA & U mgL | 0.1 —
26 | = # izl mg/L. | 0.01 —
27T~ U o |m A X | mg/L 0.1 —
281 V7 ow v FE Rl meg/L | 0.03 —
29|17 v ® v 7 vnmw A % ¥ mgL |0.03 —
307 = £ AR JV L mg/L | 0.09 —
3| x v &~ 7 v F B K|l mg/L |0.08 —
3208 & & O %= o bt A M| mgL | 1.0 —
BTV I=T LK OZE DAL E W meg/L | 0.2 —
Mk X O = o b A& | megL | 0.3 —
Bl Kk ™ = o {b A& W mgL | 1.0 —
6T VT A K OEZE DG P mg/L | 200 —
3Tl v H v K V% © it & #| meg/L | 0.05 —
38 |i& e 27| A 7 | mg/L 200 15
9 vn, v 72y A% (8 E)| mg/L 300 —
40 |7 % b33 ¥ ¥| me/L | 500 —
411k (4 & » F om & M Al me/L | 0.2 —
42 IV - 7+ 2 2 | mg/L | o.00001 —
4312 = AF v A4V R v 2 A — Jb| mg/L | 0.00001 —
44138 4 A » Fom & M Al me/L | 0.02 —
45 |7 - J — Jb ¥H| me/L | 0.005 —
46|H tH B ( TOC © B )| mg/L 3 0. 347t
47 [p H fi e 73
48 IS Rl BEL
49 (& K Aol | EEZRL
50 | | 5 LA
51 | L 2 0. 1Al
33 5” i) #E| mg/L |01k 0.5
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el W H 4 A 6 H ST iE
Ly — i il ImlH
2| K 1
3| W FI T A K OZEDONAAS W | m/L
40k 8 k& O %2 o b & W | mg/L
5l v vy kX F 0L A& W | meg/L
6|l ¢ K O &= o I & W | mg/L
e £ 2 v = o f{ A& W mg/L
gIox M - 9w A qk A& W] mg/L
N Eiil fil§ i & = | meg/L
07 vtk &> T U mg/L
11| B2 #& = F Kk O # M B B % F| mg/L
1217 v % kX »* 2 o b & ¥ mg/L
BIx v £ &k O 2 o kb A& WP mg/L
14 | i) 1t 7% | mg/L
15 |1,4- ¥ * e A | mg/L
6] > 0 Sy P a s s Y e
17 |~ 7 = = A 74 Y me/L
8y ~ 7 7 v mwm = F L U mg/L
91~ v 7 v = F L mg/L
20 |-X Vg z ~| mg/L
21 | # iz me/L
22 |7 = = FE W[ mg/L
23 |7 o = AN JL 2l mg/L
24 |~ % = = P W2l mg/L
2%l 7 v = 7 v v X % | mg/L
26 | = H fiz[ mg/L
27 |#& | N N 7 A X V] mg/L
28 |~ ) 7 = = P fi[ mg/L
2917 v = v 7 v nm X % | mg/L
30 |7 =: E RN v A me/L
3 5 7 o F kR mg/L
2 H K O = o b & W mg/L
B v = s kR E OIS B mg/L
Ml &£ o = o fb A& | mg/L
B k= o b A& W meg/L
Bl r Vv oA KW E O A W mg/L
3Nl v v Kk O & O b & W mg/L
38 |4 1t 2 A Z >| mg/L
9P vy s, w7 x vy onm (B E)| mg/L
40 |7 3 33 w Y| me/L
4112 4 A > K m W M | meg/L
42 | £ 7 A N > mg/L
4312 — A F v A4 YV KR ) % A — | mg/L
41k 4 A o KR om & M Al me/L
457 - J — b Al mg/L
615 #H w» ( TOC O =& )| mg/L
47 Ip H il
48 IS
49 |2 £
50 | & gl K
51 | Bl =
6 7 it T &
NI ( 5 = oA )
Hik & M 3 i 100mL 1}

7 UV 7 b 2 K U ¥ U A
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b

RN
Fl A H % H AL 6 H Ffit T E
1| — fix il ImlH
2| K i
3l WK I v A K OZF O A % | mg/L
40 & 8/ Xk O % O b A& ¥ | mg/L
5l v v kB %2 o b & ¥ | mg/L
6 6 X O = o b B ¥ | mg/L
e £ K OO % o b A B meg/L
g M8 2 o= & fb A& ¥ mg/L
9 |& fiF§ %4 R £ | me/L
07 e 44 > k O T mg/L
11| B2 fig %= F Kk OV # M B # = FE| mg/L
217 v F k ™ % o 1 & # mg/L
B v £ kK ® = o k& ¥ mg/L
14 i) 1t R | me/L
15 |1,4- ¥ v * A >| mg/L
I D
17l 7 = = A o > mg/L
8l ¢~ 2 7 v v = F L | mg/L
o v - v w = F L Y| mg/L
20 |% NG £ ~| mg/L
21 | K fiz| mg/L
22 |7 = = i Wzl me/L
23 |7 = = AN JL 2| mg/L
24 |¥ % = = e | mg/L
25 7w ® 7 m om X 2 v mg/L
26 | & e fiz| mg/L
27 |ia l\ ) N m A i > mg/L
28 |k ) 7 = = Wk fiz| mg/L
2917 »n = ¥ 7 v v A % v mg/L
30 |7 =: E N v A mg/L
31|~ » 7 o  F Kl mg/lL
20 K O 2 o f A& W mg/L
BT ArI=9 sk ®ZE oG P mg/L
M £ = o b & | mg/L
3B Kk O & o fb & W mg/L
6|17 MU v oA KW ZE O b A ¥ mg/L
3Nl v v kO % o b A& ¥ mg/L
38 |¥ 1t 7 A 7 > mg/L
9w a, v 7 xv v an% (M E) mg/L
40 |7 38 5% 4 Y| mg/L
4112 4 A~ A om & M Al me/L
42 |2 o vin A N ~| mg/L
312 — 2 F » 4 Y K" N 3 A4 — )| mg/L
40k 4 F o K om i M A mg/L
45 |7 - J — % | mg/L
4615 W O ( TOC o B )| mg/L
47 Ip H fiE
48 IS
49 | & £
50 | gl E
51 [ gl E
6 7 it T E
NI ( & 1% oA )
- S A O 100mL
10 7 Sy 7E
7 UV 7 b A2 R U Y U A
A 7 JL v 7




